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Gurggn| A B ¢ D E , PART A - (10 %2 =20 marks)
QL ieray (&.15.) 10,000 /| 2,000 | 2,500 | 3,000 (2,000| 500 Abiswer angr\ TEN G e
\Beeflenés(@ Ljemeae 60 10 15 20 10| 5 | _
: 1.  Define Costing. -
Gririg & gaad). (¢.) 10,000 | 3,000 | 2,000 |* 8,000 [1,500| 500 c;{Léiégngm i)

@uipdr GHeors Hper | 150 | 60 | 30 50 10 | - ! - ,
D UBAT IS8 () 2,50,000{60,000 80,0:00 1,00,000|5;000 5,000, _ 2. © Mention any two limitations of Cost Accounting.

A , ' L ssellenar samadlwader GampLrBsais aCoed' @ reiriy e &(Hs.
UGy HMPSEREE. dswasmer s Humuwrer Siglitmiuld . :
281550 Aeg) e gapsri Lflie) Ly ume gurfléseb. . 3.  What do you mean by Profit Centre?

Geoms EDLOWILD Greirri_lg,%irr Quimger wrg)?
4. Total cost of a product is Rs. 64,000, Profit is 20% on sales What

is the Sale Price?

Qummerlen Gmrrg,g, @u_a;emﬁlemu 5. 64, 000 @surrum aﬁ]mumaﬂuﬁ]w
20%. mﬁlgpummaﬁlmm wg?

5.  What is a Cost Sheet?
. SiL&aellans SeT T cTeiren?
6; Profit as per financial books: is Rs. 76,000. Wﬁat will be the

profit as per costing books when selling and chstrlbutmn
expenses, actual as well as predetermined, are Rs. 3,000?

BlElflene sawsfliid Ugsalitig @emiith . 76,000. eflpLienen HDILD
uéliey Geweysdr Fars Cewey Cewgsd  apargtigGu
grorafigsgin . 3,000 crafldd é{LGSGSQSﬂGU)GD Lig&sSlanLg. @a)rrum
GTGUTGRT?

7.  What is Material Control?

EPOLGLITHET & HLILITE eTempmed eTeman?

8.  Find out the Reorder level from the foilowing :
Maximum cdnsumption of material 300 units
Maximum reorder period 4 weeks
8 62442/CPZ5A/CPC5C/
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Minimum reorder period 2. weeks.
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10.

11.

12.

13.

14,

/

Yemeumid el Ligraiselel (pHg Lom) @:bmcm sjareilenen &;Gméséél@ai :
eweu@umrefen 2 wiibsUL s EIsTe) 300 B0 @6
SAHEULEF DI SpEnaT STELD 4 GUTFEISET

GDDHSUILE DX 4G ST@LD 2 GUTFRIGET.

What do you mean by Indirect Labour?

LDEDDPE 2 eDPLILY eremLGen QLM meT Wimg)?

What is Labour Turnover?

Qsmferert wmHmeSsid erammmed eretre?

(five the meaning of Absorption of Overheads.
Cuoph@eaeser BLL| eTeLIgeT ClLITHET (.

Indicate the basis of apportionm'ent for the overhead expenses

mentioned below :
(a) Rent, Rates and Taxes.

(b) Repairs and Maintenance.

&G Qsr@ésun@erer  Coplswaisdr by —SlgliumLule
@FGSILHEDG cTaTLMS G lg ST (H R

(1) eurLens, aisb wHHib euflser
(<=1) u@gjurrr'nﬂq_m'rbgum ugmofliy
PART B — (6 x 5 = 25 marks)

Answer any FIVE questions.

Distinguish between Cost Accounting and Management
Accounting.

ILsslene  samsHumawnd  Coermmw  Garsdumewn

Coupu (B 55is.

Compute the Prime Cost:

Rs.
Direct material used : 1 o 82,000
Productive wages o : 17,000
" Royalty paid ‘ 11,000

Hire charge of special machines for the job 13,000
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Qemferent Qess & qeayg Qsmiloremisaflen cremetsens :
Mg prbLgdled 900
wrg @miFluded 1100
<ps LissHod, 10 Gsmfamaisedr @U@, 40 puise
dpefssiuc G  wHmd 150 dsmfemeriser  Lamfluded
CemsalulLent. oféd 25 Qsmfleoramiser uamfleow all®
Qgerrp &medl @LsHe vl SWwISHLILLL@IT. DHDEUTEET,
dlfleunsas S LsHaIb Lianfl SITSSUILIL L .

24. Kumaresh Ltd. has three production departments A, B and C

and two service departments D and E. The following figures are
extracted from the records of the company: °

Particulars - Rs.
Rent and Rates , 5,000
Indirect ‘Wages ‘ 1,500
. Depreciation of Machinery 10,000
~General Lighting 600
Power | 1,500
Sundries 10,000

Following further details are available :

Total A B C D E

Floor ‘Space in (Sq. F) 10,000 | 2,000 | 2,500 | 3,000 (2,000 500
Light Points 60 10 15 20 10 5
Direct Wages (Rs.) 10,000 | 3,000 | 2,000 | 3,000 |1,500| 500
H.P. of Machines 150 ‘| 60 | 30 | 50 | 10 | -

Value of Machinery (Rs.) |2,50,000/60,000(80,000(1,00,000(5,000(5,00Q

Apportion the cost to various departments on the most equitable
basis by preparing ' a primary departmen'tal 'distribution
summary. , , :
@wCrev WAL A, B nppid C @pdlus epenm 2 husH sienpsamenyd
D vppw E odu @ren® Csameu genpsenemud. GaEmeadr(hereng).
Getreu(mid eLFriseT Sibs snCQuUaiien g aafledBhg QupLILILLF).

oSyl &erT - f.
QUML_6n& LOHMILD 6IFLD | 5,000
Loszs')g)(g)a; T GO GG . 1,500
@mﬁ;ﬁu@guhmncémm 4 10,000
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23.

/

April-2 Tssues 150 units

April 7 Issues © 100 units
April 12 Issues 100 units
April 28 TIssues  ° 200 units

gured 1-b Cadl epaliGumper @it 200 SlGEET (5 2 .Gﬁg)Lb.

Qetrau(mid @Slu:yréla;aﬂeﬁ]@j;gﬂ graflmpy  CuGpl@® sawsdaner
Boddd  apsws gl G)JIC_QI'EJ@'Q';GI) Cerenp g liueufe
sufl&sa|Lb. ' ‘ 15.

guimed 5 ,Qa_nch@g,cb -+ 100 é{m_@aseﬁ‘@, 2.20 eigid.
GUr@ 10 Qsarapsd . 150 iEsdr (. 2.40 St
guge 20  Gaemetapged 180 @aar ¢p. 2.50 aigb

Ggured 2 GULDEIGSE 150 a{a)@a;dT

Furd 7 auphEsd 100 s@@sen
TUID 12  aphigsd 100 elm@ser
guUI® 28  auprigse 200 se@ser

]

From the followmg data given by the personnel department
calculate labour turnover rate by applying :

(a) Separation method

(b) Replacement method

. (¢) Flux method

Number of workers on the payroll: ’
At the beginning of the month:\ 900
At the end of the month: 1,100

During the month, 10- workers left, 40 persons. were
~ discharged and 150 workers are recruited. Of these, /
. 25 workers are recruited in the vacancies of those leaving, j

while the rest were engaged for an expansion scheme.

Wemaupd  eflujbisar  ueflumart  Fawpwimed)  uPrRISLILLL .
Qgmferert wrHm eissHamer Gemeumh WaDsaild samrsdHs.

(=) Ofiged o cpanp

() wmfluwiszisd 6is eop
(@) soma ais .
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16.

wsanen Qeawelaman saTéslHs :

Cpiaps epali@ur®er uweaTuHSEwg 82,000
o pLEd orips mdad 17,000
o flarwg@srens QegsHug 11,000 |
Gmeoeoésaarre; Smiiy @m;’sgﬂry UM en& 13,000

.The profit as per cost accounts- was Rs. 1, 50 000. Calculate the

profit as per. financial accounts on the bas1s of the follong

- information

(a) Works overheads were under recovered in cost accounts by
‘Rs. 6,200. : ‘

(b) Administration expenses were under recorded in ﬁnanc1al
accounts by Rs. 2,750, ’  w

() Deprec1at1on charges over*recovered in cost accounts
Rs. 1,900.

(d) Interest received on investments Rs. 1,000.

SILGslne samsHwied ug,g,a;uuq. Qeomud ¢m. 1, 50,000. 19 616U (fHLD

aflLiyisaflel BhHg ‘lﬁlgl‘rf,lmsv a;cwra;@ qg,g,a;g,‘é,lmuq_ @a)rrug;ﬁlmm
Genr &l (o :

(<=1) Qsmfipenene Gmrj)@&comasc'rr @qL.é;&@Sla)eo ascmé;a%lu_»laﬂeo
@eopeuns Bl sl L g) . 6,200, :

(=) Hlifeurs Caeeysaer ﬁﬁ'r_ﬂcoa) a;smasélu_mﬁla) @ o 750 @mgpmrra;
Y (T TR B :

(@) Gsiiomerd an_a;a;oﬁlmev e;mra;eﬂlueﬁleu 5. 1900 @lﬁa;mrra;_
Braiule g :

(tr) » _g;cﬁ@asm LSgnGtrr ail iy QuPPG! €. 1,000.

Calculate Economic Order Quantity ::
Quarterly consumption 750 units
Purchase price per unit.Rs. 25 .
Semi-annual carrying cost 6%

Ordermg cost per order Rs. 45.

Hagan QaTeTLPS0 et i6me] a;sma;eﬂ@a;
STeONamigHaTem B&HTe| 750 ew@Gser
Qe;rrcir@g,eb cllane g DHVGEES (. 25
Sierwnars HEAu ahés QEG’\)@L'D‘ Qe 6%
RO BOETESETE QETETAPSED (h. 45.
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18.

19.

From the following particulars, calculate :

(a) Maximum Level
(b) Minimum Level
() Re-order Level.
 Normal usage
Minimum usage
Maximum usage
Economic order quantity.

Reorder period

100 units per day
60 units per day
130 units per day
5000 units

25 to 30 days.

Qemeumid eluprisafelmbg (<) fasul s are] () GPDHSULE
2iemay (@) wm et Hlane ypdwiaiDenn sasslHs :

Qe pIsTe

GPDHELILE BisTay

caq'é,]a;uL& rcrua;rrsq

eﬂesa;svr Qa;rrm@g,sv DG TG

D) D4ENERTE SHTELD

100 sj@se ¢(m prr_sbmésg
60 SO GEET e(Ih BTENETES
130 Si@S6T @ BreneTsE
5000 siv@ser

25— 30 prlger.

The following particulars apply to a job:

Standard time 10 hours
Time taken 8 hours

}

Time rate

Rs. 2 per hour

Calculate the earnings under Rowan Plan.

@ Caumed sLBSUILL, Gemeu(pLb eughiser STULL HdTaTs) :

L Cpyid

Gpr eisb

10 wenfl Cryid
a@&sULL st 8 wenfl Cpiyid
- 2 ¢y wenll CIEADG

Grreumar S L LiLg QUDSSaly W sacllen Samréd Hs.

Calculate Machine Hour Rate from the following information :

Per Hour Per Year

Rs.) (Rs.) -
" Electric power 0.75 Rent 7 270
Steam 0!30 Reépairs 550
Water ; 0.20 Running hours 2,000

Original cost of the machine is Rs. 15,000; Book value Rs. 3,500;

Replacement value Rs.- 11,500. Deprematlon is 10% on or1g1na1
cost.

4 62442/CPZ5A/CPC5C/
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21.

22.

Gemeuqpd elurrusaiel®Bg @wbSr wanf Gﬁg,g)ﬁmaﬂ SETES (H5.

(5 anfl Cryb : S 2pe(H
. (tm.) | (em.)
e &4 0.75 UTL & 270
el 0.30 LiGpgILTTILy 550
Bir 0.20 QuitigLd wenfl CHIW 2,000

Qupdrsder o am@buTer S ssb @ 15000, LUsss wHIL
5. 3,500. wmpHlwiewsstiule wdiny . 11,500. Ceuliorend oL &s
cleneudedr 10%.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions. .

2 !
Discuss the various ways in which costs may be classified.

Sl sseillenen mma;uu@g,gjg,aﬂm o drer LOCaim eulEmer LDH
aﬂmrr;!ﬁasa;

In a factory a étandard product is manufactured. From the
following particulars prepare a Cost Sheet :

Materials consumed Rs. 30,000
Wages Rs. 60,000

Works overhead is charged at 40% of prime cost and office
overhead is taken at 20% on works cost. Units produced and sold
are 180 units at Rs. 1, 200 each.

em Osmfhsrarauie g,r;mneur Qummer swrMésLILOSDS.
Geeupid eflurrisefielmbsl DiLsselews sratlaar swrhéseb.

epelidurmerser maTe . 30,000
gaedlasar . 60,000
Qsmfperene GCopbameser wpsaras bewaiier 40% WHNOID SIS

" Gup@saeyser Asmifihemma SiLsasHd 20%. 180 Sio@ser 2 puss

Qeiwiul @ ep. 1,200 aigib Siameansgin eNnsliLi’ L g.

The stock of material as on 1st Aprll was 200 units at Rs. 2 each
From the following particulars, prepare Stores Ledger Account
under LIFO method :

April 5 Purchases
April 10  Purchases
April 20 Purchases

100 units at Rs. 2.20 each
150 units at Rs. 2.40 each
180 units at Rs. 2.50 each
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